
? 











Find the missing :-

(A)16
(B)11
(C) 15
(D)17

5 6 7 8

10 18 21 24

7 9 10 ?



Find the missing :-

(A)16
(B)15
(C) 18
(D)21

17 12 ?

11 34 19

19 28 11

25 06 08



Find the missing :-

(A)42
(B)32
(C) 76
(D)68



Find the missing :-

(A) 7
(B) 6
(C) 9
(D) 8

6 9 20 5

15 3 8 4

7 25 8 10

7 8 ? 22



Which number will replace the question mark ?

(A) 157 (B) 169
(C) 168 (D) 144

6 10 15 12

5 9 4 2

7 13 8 12

79 259 124 ?



Find the missing :-

(A)32
(B)34
(C) 44
(D)28

16 ? 30

20 29 21

10 26 24

12 20 16



Find the missing :-

(A)4
(B)5
(C) 7
(D)8

6 4 8 9 3

9 2 9 4 2

4 1 11 11 3

5 1 ? 1 4

3 3 1 6 5



Find the missing :-

(A)02
(B)04
(C) 06
(D)08

3 2

5 4

1 7

1 2

7 6

4 2

2 1

3 11

1 ?



Find the missing :-

(A) 06
(B) - 4
(C) - 8
(D) 82



Statement :-
All woods are roots./ सभी जंगल जड़ हैं।
All fruits are roots./ सभी फल जड़ हैं।
No woods are fruits. / कोई लकड़ी फल नह ं है।

Conclusion :-
Some roots are fruits./ कुछ जड़़ें फल हैं।
All roots are woods. / सभी जड़़ें लकड़ी हैं।



Find the missing  :-

1. 4
2. 7
3. 1
4. 8

12 6 9

8 11 1

14 7 12

10 12 ?



Find the missing :-

6 * 5 = 91
8 *7 = 169
10 * 7 = 211
22 * 5 = ?

(A) 993 (B) 331
(C) 845 (D) 678



Find the missing :-

(A) 928
(B) 686
(C) 430
(D) 324



Find the WRONG ONE :-

EC , H , HF , N , KI , U 

(A) HF
(B) EC
(C) N
(D) U 



Find the missing :-

PURPLE : OWOTGK :: GREEN

(A) FTBBI
(B) FTBII
(C) FTBJI
(D) FTBIJ



Find the missing :-

(A) 9
(B) 7
(C) 10
(D) 8 

4 5 6

5 6 7

9 4 ?



Find the missing :-

(A) 2
(B) 8      
(C) 10
(D) 14

14 9 12 20

4 9 8 10

12 13 7 20

3 3 11 ?

20 42 19 40



Find the missing  :-

1. 1
2. 2
3. 3
4. 4

14 20 16

2 2 ?

3 6 5

4 4 3



Find the missing :-

(A) 1
(B) 2
(C) 3
(D) 4

2 4 14

3 5 22

? 6 32


